Sample accuracy data for one experimental block in Leaf2:
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Learning criterion was not reached for the last five data sets

Learning criteria for the two studies:

Learning criterion in Leaf2: 
10 successive trials correct

Maximum number of trials if criterion not reached: 
60 trials
Learning criterion in Leaf3: 
15 successive trials correct

Maximum number of trials if criterion not reached: 
90 trials
Main dependent variables for the two studies:

1
Number trial of the last error trial (as given above)

2
Mean RT across the trials before the last error trial

(NB Results for 1, last error trial, similar to results for just measuring if criterion learning was achieved in a given block)

